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Question 1 Question 2 Question 3 Question 4 Question 5 Question 6
5,660ml [ 1 8 units [ 1|l DANCERS [ 1] 2 [ 1 11cm [ 1 10 [ 1]
6,556ml [ 1] 8tens [ 1l DAWNING [ 1 3 [ 1l 22cm [ I 11 [ ]
5,560ml [ 1{f 8 hundreds [ ]{f DECIMAL [ 1)l 4 [ 1)l 704cm [ 1 12 [ ]
5,550ml [ 1| 8 thousands [ ]| DECIDED [ 1| 5 [ 1) 74cm [ 1) 13 [ ]
5,650ml [ 1{ 8 millions [ 1]l DEVOURS [ 1 6 [ 1f 12cm [ 1) 14 [ ]
Question 7 Question 8 Question 9 Question 10 Question 11 Question 12
18:45 [ 1l 3456 ) [ 1l (3.25,3.8) [ 1 £3.00 [ Il x=4 [ ]
18:46 [ 1|l 34.56 [ 1l 15 [ 1l 3.75,3.1) [ 1 £8.00 [ lx=6 [ ]
18:47 [ 11l 19.28 [ 1l 50 [ 1l 34, 32) [ 1 £12.00 [ x=8 [ ]
18:48 [ 1l 19.26 [ 1l 150 [ 1l (3.6, 3.22) [ 1 £15.00 [ Il x=10 [ ]
18:49 [ 1|l 34.65 [ 1f 500 [ 1 3.8,3.25) [ 1 £18.00 [ I x=12 [ ]
Question 13 Question 14 Question 15 Question 16 Question 17 Question 18

2.7 [ 4 [ 1] 4 [ 1 900ml [ 1 41.29 [ 2 [ ]
2.52 [ 18 ) [ il 1,000mlI [ 1 41.30 [ | 4 [ ]
2.53 [ 1) 12 [ 1] 8 [ 1l 1,700ml [ 1 42.29 [ 16 [ ]
2.54 [ 1] 16 [ 1f 10 [ 1|l 1,200ml [ 1 42.30 [ 1]l 8 [ ]
45 [ 1| 20 [ 1] 12 [ ) 1,300ml [ 1 41.297 [ 1 10 [ ]
Question 19 Question 20 Question 21 Question 22 Question 23 Question 24

82 minutes [ | 1 [ 1 -2°C [ 1 35 [ 1 23 [ 1A [ ]
94 minutes [ ]| 2 [ 1] -3°C [ 14 [ 1 24 [ 1B [ ]
98 minutes [ ]| 3 [ 1] 2°C [ o7 [ 1 25 [ 1 C [ ]
164 minutes [ ]| 4 [ 1] 3°C [ 175 [ 1 26 [ I D [ ]
410 minutes [ || 5 [ 1f 19°C [ 114 [ 27 [ 1) E [ 1]
Question 25 Question 26 Question 27 Question 28 Question 29 Question 30
8cm? [ -7,-12 [ 1A [ 1]l 40 [ 1|l £27.00 [ 19 [ ]
13cm? [ ]| -3, -8 [ 1B [ 1]l 45 [ 1|l £29.00 [ 1]l 10 [ ]
15cm? [ 1 -3,12 [ || C [ 1l 400 [ 1| £52.00 [ 11 [ ]
18cm? L) -7, -8 [ 1| D [ 1l 450 [ 1|l £54.00 [ 1] 12 [ ]
20cm? [ 1| -3,-12 [ 1| E [ 1| 4500 [ 1| £66.00 [ 113 [ ]
Question 31 Question 32 Question 33 Question 34 Question 35 Question 36

51 [ 3 [ 1] 2/3 [ 1l 910mm? [ 1]3 [ A [ 1]
53 [ ] 4 [ 1]l 5/6 [ 1 800mm? [ 1] 4 [ I B [ ]
55 [ 1| 5 [ 1] 1/6 [ 1| 880mm? ) [ 1 C [ ]
57 [ 16 [ 1 3/5 [ 1] 680mm? [1]6 [ 1 D [ ]
59 [If 7 [ 1) 1/3 [ 1| 860mm? [ 17 [ I E [ ]
Question 37 Question 38 Question 39 Question 40 Question 41 Question 42

A [ I A [ 1| 115 seconds [ 1 89.31 [ 1y 30° [ I 12 [ 1
B [ 1] B [ ]|| 65seconds [ ]| 52.21 [ 1) 35° [ 1] 24 [ 1
C [ 1 C [ Il 125 seconds [ ]| 52.75 [ 1|t 40° [ 1t 120 [ 1]
D [ 1| D [ 1| 7.5seconds [ ]| 52.212 [ 1| 45° [ 1|l 240 [ ]
E [ 1 E [ 1l 75 seconds [ ]| 53.76 [ Il 135° [ 1l 1,200 [ 1
Question 43 Question 44 Question 45 Question 46 Question 47 Question 48

9 [ 7] 12 [ 7 12 [ 1| 12.33 [ 1|l 28cm? [ Ix=2 [ ]
13 [ 1) 13 [ 1 22 [ 1] 32.34 [ 1|l 46cm? [ Il x=3 [ 1]
18 [ 14 [ 1] 14 [ 1] 3234 [ 1]l 68cm? [ 1 x=4 [ ]
24 [ 1} 15 [ 1] 18 [ 1] 4133 [ 1| 76cm? [ Il x=5 [ 1]
27 [ 1 16 [ 1] 24 [ 1] 4234 [ 1| 88cm? [ Ifx=6 [ 1]
Question 49 Question 50

SWIMS [ 1l 4km []

HEELS [ 1N 14km [ 1]

SMALL [ 1|l 25km [ 1]

HALLS [ 1l 24km []

SHELL [ 1| 45km [ 1]
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